Double Door Installation Instructions

Installation of Door: frame: The frame of the door unit is attached to the stud
wall through the exterior brick mould using twenty one (21) #7 x 1 5/8” drywall trim
screws. Eight (8) of these screws are attached on each side brick mould pieces and
are spaced 10.5” apart. Five (5) screws are attached through the top arched piece of
brick mould. Through each hinge and through the jamb material on each side jamb
two #12 x 3” wood screws are placed through each hinge and into the stud wall
frame. The bottom of the test unit is attached through the sill using six (6) #8 x 2
1/2” galvanized wood screws. Alex Ultra Acrylic Latex Plus Silicone Sealant 230
Grade is applied to the bottom of the sill on the frame of the unit. Four (4)
additional #7 x 1 5/8” trim screws are place behind the weather strips on the side
jambs through the door frame and into the 2x4 wall. Four (4) of the same trim
screws are placed behind the weather stripping on the head jamb through the jamb
and into the top header wall framing.

Sealant and Adhesives: Alex Ultra Acrylic Latex Sealant was used to seal the door
frame assembly underneath the sill of the door frame.

Shims: Wood shims are placed behind each hinge and at necessary locations
To ensure proper reveals during installation



DOOR SIZE 1-3/4"x (2x36") x 96"

X

h b 4 4 4 4B L By Ly
IIIIIIIIIIIIIIIIIoIIIIIIIIIIIIIIINIIIIIIIIIIIIIIoIIIIIIIIIIIIIIINIIIIIIIIIIIIIIHIIIIIIIIIIIIIIMIIIIIIIIIIIIIIHIIIIIIIIIIu
¢
T NN
NN
¢
O O :
¢
N
RGN
¢
: LA\
= T
5 q
_nmu W IIIIIIIIIIIIIIIII.IIIIIIIIIIIIIIIﬂIIIIIIIIIIIIIIoIIIIIIIIIIIIIIIﬂIIIIIIIIIIIIIIHIIIIIIIIIIIIIINIIIIIIIIIIIIIIHIIIIIIIIIIu
S
=

#£°001

5
i o)
ANEIE
HEHBHE
2(z|=|a|%

i
glz| |32
HE Elx
HEHEIEE
HHEIEIE
w
&

[=)
| =
Q| &

- 9

o =

nog

(NN

- Q

- m

Vr — | <

= z|=

T o |53

MEHE

< U |8z

e
< |<
S|=

1’d

S

()

t

Y

w

=

=

2

0

~

wn

Ll
g x
(] N
2|

-

=

o

N

2| = 5
o N S
+t

<

(%]

)

o 2

2

©

S

=)

—




19. " ” | 1 " |
INSIDE VIEW T > %0 °

\ |
Flushbolt Plate
3.7" N ” N
& #7 x 1 5/8" trim screws behind in
L weatherstripping into stud. #8 x 3” wood screws penetrate |
] flushbolt plate and into header. =17
16"
4
24" <« #12 x 3" wood screws penetrate
through each hinge into stud wall.
Y
247 ' '
|
#8 x 3” wood screws penetrate
flushbolt plate and into
p subfloor framing. H
22 i —#8x21/2” wood screws i
penetrate through threshold @
, into subfloor framing. Flushbolt Plate -
L1 \ N J,
} T
ol e | I IV o |
1.5"
Qty Item
— 12 #7 x 1 5/8” trim screw
Framed Wall Door — 16 #12 x 3" wood screw
4 #8 x 3” wood screw
1/4" space for shims
6 #8x 2 1/2"” wood screw
2 Drawing DSA #001-2011




2 -
#6 x 3" trim screw
I

L #18 gauge 2" finish nail
L BRICKMOULD

FRAME

1/4” Shim Space

CROSS SFECTION A

OUT SIDE
@E\% o

fASTRAGALS
\\\}\\‘}\\;\\ “— \ #12 x 3” wood screws

N 2
(=) s [
T
STUD /”ﬁ |
e #6 x 3" trim screw
WF 1/4" Shim Space / \% |-
— N ) L #18 gauge 2" finish nail
#12x 1 1/4 wood screws”
BRICKMOULD
§ FRAME

3 Drawing DSA #001-2011




SCHLEGEL HYDROSILL MODEL 2200

— ALLIMINUM

— END GASKET

THRESHOLD SEAL—,

il A A
41 -:;I.;EIIII
p—— i3z
Ly (33.6mm
U
- Al
A ",'i Y ¥
l"'\ - N — WEEP
TROUGH FOAM WEEP HOLE COVER
7" X% 17 (22.2mm X 25.4mm)
- 4 52" =
1115 9mm)
THRESHOLD TOP VIEW Plate A is mounted into the
2" threshold by two 3" wood
| | screws. The two 3" wood
screws also penetrate into
Flushbolt Strike Plate A—>| ¢ |:| o the subfloor.
[ ] [ ] [ ] [ ] [ ] [ J
212" wood screws
HEAD JAMB VIEW Plate B is mounted into the
head jamb by two 3”wood

screws. The two 3" wood

Flushbolt Strike Plate B—>

screws also penetrate into
the header framing.

Drawing DSA #001-2011




